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Chemistry
Stoichiometry and concentrations

1. To a beaker, 20.0 ml of .100 M AgNO; has an aqueous solution of .05M NaCl, added causmg a

solid to precipitate. o .{*
a. Write the complete balanced equation. / \ +fald =B fﬁ i by Af@« ?&J {;/a”?

b. How many moles of AgNOs are present before the reaction? ’ \
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c. What is the solid precipitating?
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d. How many mL of NaCl will be needed to reach equwalence'?
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¢. Whatis the concentrahor_l of each icn in solutlon at eqmvalence'?
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f. Drawa plc;fure of the beaker at eqmvalence Show art1cle proportlonahty
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2. 20.0ml of 200 M NaOHg) is added to 40. Om. of .100M HCN{aq) Answer the fo]lowmg

questions from the 1nformat10n r0v1ded ety
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a. Write the complete balancec? equatmn and create an ISE table below
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d. Draw a picture of the beaker. Show particle proportionality. . H b
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£ What is the concentration of each ion in solution at equivalence?
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3. To abeaker, 50mL of .2M HBr is added to 50 mL of 3M KOH.
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a.  Write the complete balanced equatum d comflctc anéISJ{":i table below.
LA O =5 B g HOH U]
R N S HE 5

8.0l 0.8 Al
b. Whlch reactant is- the lmutmg reactant'?
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¢. How much water is produced?
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d. Whatis thc concentration of the HBr aﬁcr the reaction has ended?
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4, To abeaker, 50mL of 2M CaClz 18 adtied to 50 mL of 4M Na3P04 forming a white solid at the

bottom of the solution. Mzn K wr 900 sl peitie By e, i&i
£ Write the complete balanced cgi‘ia}mn L it & e Mo 3k
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g ‘Which reactant is thc limiting reactant?
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i. Draw a picture of the beaker. Show partlclc propomonahty
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j.  What is the concentration of the POy % jon in solution?
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